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Determinare il valore dei seguenti limiti

. (log(x—i— 1))2

x—0 €x

z—0t xT

r—1
lim (6 + log(x® + 31:))

e —1\°
. lim ( )
z—0 x

T — 1
i (e 1 N og(x + 1))

z—0 xT T

log(4a® + 1 |
lim(og( v )+e +log(5x2+4)>

x—0 4&35 31’
lim log(2® +4x)  32°+ Tz PR
T—+00 322+ 4 53 + 2
| 244

lim M + 22 Vet + 522 + 1
T—+00 3r+1

. 10%(7$ + 3) 2 dz—1
dim (5 o 7o

. 10g3(4x +1) 2 5z+1

lim (e3z2+5x3 +Vat+ 6z + 1>
T——00

lim (log(ac +2) n e3:v+3)
rz——1 T + 1

, log(z — 2)
lim (| ———=
xz—21 3x+5

—_ 3(x—3)? _
lim log(z — 2) I 1
a—3 T —3 3(z —3)?




_ [log(px —19) ¥’ 816 _
14. 1 Va2 =16
e ( se—20 | (w-ap | V°



